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1. Base Case 

 

 

2. Split Universe 
a. EvenId = 0 and Trunc(100*Mod(Ln(SalesA+1),0.02)) = 0  

 



b. EvenId = 0 and Trunc(100*Mod(Ln(SalesA+1),0.02)) = 1 

 

c. EvenId =1 and Trunc(100*Mod(Ln(SalesA+1),0.02)) = 0 

 

 

 

 

 



d. EvenId = 1 and Trunc(100*Mod(Ln(SalesA+1),0.02)) = 1 

 

   



 

3. Adjust # of Stocks 

a. 3 Stocks 

 

b. 5 stocks 

 

 

 

 

 



c. 10 stocks 

 

 

 

 

d. 50 stocks 

 

 

 

 



e. 100 stocks (max 55 currently) 

 

   



4. By Sector 

a. Energy (GICS10) 

25 stocks, rank>80 

 

10 stocks, rank >80 

 

   



b. Materials (GICS15) 

 

25 stocks, rank>80 

 

 

10 stocks, rank > 80 

 

   



c. Industrials (GICS20) 

25 positions, rank > 80 

 

10 pos 

 

   



d. Consumer Discretionary (GICS25) 

 

25 pos, rank > 80 

 

 

 

10 pos, rank >80 

 

   



e. Consumer Staples (GICS 30) 

25 pos, rank > 80 

 

 

 

10 pos 

 

   



f. Healthcare (GICS 35) 

25 pos 

 

 

 

10 pos, rank > 80 

 

   



g. Tech (GICS 45) 

25 pos, rank > 80 

 

10 pos 

 

   



h. Communication Services  

25 pos, rank > 80 

 

 

 

10 pos, rank > 80 

 

 

 

   



5. Adjust Ranking Weights 

 

a. Base weighting 

 

   



a. Equal Ranking

 

 

 

   



b. Remove Industry Momentum 

 

 

   



c. Value & Momentum Only 

 

 

 

   



d. Value and Growth only 

 

 

 

   



6. Toronto Stock Exchange (TSX) 

a. No changes to buy/sell rules (except remove Canada Trusts) 

 

 

b. Other results depending on removal of growth buy rule 

c.  

 

 

 

 

 


